
CSE322 Theory of Computation (L5)
Recap of last lecture Today

NFA to DFA
NFA proof of correctness



DFA to NFA
Given DFA M=<QD, ΣD, δD, q0D, FD>
construct equiv. NFA N=<QN,ΣN, δN,q0N,FN>



NFA to DFA (subset method)



NFA to DFA (subset method)



ε-NFA to DFA (subset meth.)
Given ε-NFA N
construct equivalent DFA M

E-Closure
E(1)=
E(2)=
E(3)=

E(q) = { q' | q                   q' }
E({q1, q2, ..., qk}) = ?

E(1,3)=
E(2,3)=
E(1,2)=
E(1,2,3)=
E({})=





ε-NFA to DFA (subset meth.)
Given ε-NFA N
construct equivalent DFA M

E-Closure
E(1) = E(2)= E(3)=

E(q) = { q' | q                   q' }



NFA to DFA (subset method)

Define using extended transition functions





Example
L = sequences of 0s of length
     either divisible by 2 or
     divisible by 3 (or both)



DFA = NFA = ε-NFA
   = regular language

REGULAR = class of regular languages


